
Correction du DS de SNT n 1.

Exercice 0.1

1 a=2
2 b=3 a−5
3 a=5
4 c=a+2 b
5 p r i n t ( c )

Tes calculs : b = 6− 5 = 1

c = 5 + 2 ∗ 1 = 7

c = 7

1 a=2
2 b=3 a−5
3 a=b
4 c=a+b
5 c=2 c
6 p r i n t ( c )

Tes calculs : b = 3 ∗ 2− 5 = 1

a = 1

c = 1 + 1 = 2

c = 2 ∗ 2 = 4

c = 4

1 a=6
2 b=7
3 a=2 a+b
4 b=a+b
5 p r i n t ( a )
6 p r i n t ( b )

Tes calculs : a = 2 ∗ 6 + 7 = 19

b = 19 + 7 = 26

a = 19 et b = 26

1 a=5
2 b=2 a+5
3 b=a
4 c=a+b
5 c=c+b
6 p r i n t ( a ) ; p r i n t ( b ) ; p r i n t ( c )

Tes calculs : b = 2 ∗ 5 + 5 = 15

b = 5

c = 5 + 5 = 10

c = 10 + 5 = 15

a = 5 b = 5 et c = 15

Exercice 0.2

1 a=’ b i b o ’
2 b=’ bobu ’
3 c=a+b
4 c=2 c
5 p r i n t ( c )

Tes calculs : c =′
bibobobu

′

c =′
bibobobubibobobu

′

1 a=’ r a d i s ’
2 b=’ rouge ’
3 c=’ no i r ’
4 b=c
5 c=a+b
6 p r i n t ( c )

Tes calculs : b =′
noir

′

c =′
radis noir

′

1


